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9.1 Soiving Linear Systems by Substitution
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Vocabulary

® method: solve one equation for one \/a.iri^to(/ substitute that
value into the other equation, and solve for the other variable



Example 1: Solve using substitution.

4x + 5y = 26

3x = y - 9
Sflh? 0 lA-b ©

I
¦' Q 4 X -f r(l>)(^) - % 7'^ v/

14/-' -14
tf-i ^

Example 2: Tony invested $2000, part at an annual interest rate of 8% and the rest at an annual interest
rate of 10%. After one year, the total interest was $190.

a) Create a linear system to model this situation.
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b) Solve. How much money did Tony invest at each rate?
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Example3: Admission to an airshow costs $80 for a car with 2 adults and 3 kids. Admission for a car with
2 adults is $50. Determine the cost for one child and one adult.
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